BHARAT COKING COAL LTD. (A Subsidiary of Coal India Ltd.) OFFICE OF THE GENERAL MANAGER LODNA AREA

OFFICE

DP 2000 No. BCCL/LA/Civil/NIT/08-09/2176

Dated: - 20.02.2009

NOTICE INVITING TENDER

Sealed percentage rate tender in two parts (Part'A'& part 'B') are invited from the experienced, and eligible contractors for the following work.

SL No.	Name of the work	Estimated Cost (Approved)	Earnest Money	Cost of tender Paper	Time of completion
1	Estimate for repairing of Block TOP approach road to CISF Camp, Bhulan Bararee under Lodna Area.		3,235.00	250.00	20 days

Issue of tender documents :-

Begins on 06.03.2009

Closed on 07.03.2009

Issue of tender documents will be done on all working days during working hours except on Sunday & holidays. In the event of the specified date for submission opening of bid declared a holiday by the employer, the bids will be received/opened on the appointed time on the next working day.

Date and time of opening of tender 09.03,2009 AT 3.30 p.m.

1) Eligibility Criteria:-

(a) The intending tender must have in its name as prime contractor experience of having successfully completed similar work during 7 (seven) years ending last day of the ,month previous to the one in which bid application are invited (i.e. eligibility period) should be either of the following:-

Three similar completed works is costing no less than the amount equal to 40 % of the estimated cost.

OR

Two similar completed work is costing to less than the amount equal to 50% of the estimated cost.

OF

One similar completed work is costing lo less than the amount equal to 80% of the estimated cost.

(b) Average annual financial turn over of civil works during the last three years ending 31st March of the pervious financial year should be at least 30% of the estimated cost.

Similar work means : Civil surface work .

NOTE (i) Provision under eligibility criteria 1. (a) shall also include those similar work which have been started earlier than eligibility period of tender but completed during the eligibility period as part

NIT.

(ii) As per eligibility criteria specified under S.L. No. 1(a) Promalification shall be done based on experience of successfully completed works and

 Tender document can be had from the office of the Cameral manager, Lodna Area, Lodna Area civil Engineering Department, P.O. Khas Jeenagora, dist. Dhanbad from 09.03.09 on deposition of requisite cost of tender paper in form of cash or the Casher, Lodna Area.

2) Complete sealed tender document (Part "A"& Part "B") should be submitted at the same time. Part 'A' shall consist of any deviation from terms and conditions of the tender and additional terms and condition if asked for, technical bid and credentials. Part "B' shall consist of tender documents as

sold to the Tenderers duly filling in rates, amounts etc. i.e. price bid. The earnest money deposit is to be submitted in a separate envelope altogether superscribing "Earnest Money Deposit" and not inside the envelope containing part-"A" or part-"B" of the Bid. The part-"A" &

part-"B" should also be put into separate sealed envelopes superscribed as such. Thereafter all the three envelopes should be submitted in a sealed envelope with appropriate superscription.

The Tender will be received on 09.03.2009 upto **3.00** P.M. by the tender committee in the tender box at Civil Deptt. Lodna Area. And will be opened at 3.00 P.M. on the same say i.e on 09.03.2009 The Part -II will be opened only after the department is satisfied that the criteria fixed are fulfilled and also the earnest money is deposited i.e. on acceptance of Part-"A"

In case where tender documents are requested for transmission by post, these should be dispatched A.D.
 The department is not responsible for any postal delay in such cases.

EDP092007N

Cont'd.

4) The earnest money is to eb deposite as per detail given in the tender documents.

5) The Tenderers have to submit Permanent Account No. of Income Tax (PAN No) credential copy. Conditional and incomplete shall not be accepted.

Conditional tenders will not be accepted.

Issuance of tender documents does not mean that the parties are considered qualified.

8) The Experience as given in the eligibility criteria should be in the name and style in which tender is filled. The experience in the anem of some other firm/company will not be considered for this purpose.

9) The validity of the tender will be 120 days from the date of opening price bid or revised Price bid, if any.

10) The management of BCCL reserves right to reject any or all tender or split the work among two or more tenderers with out assigning any reasons whatsoever.

11) Other details may be obtained from tender notice/tender documents / website No. http://bccl.cmpdi.co.in

SPECIAL CONDITIONS FOR TNEDERERS, DOWNLOADING THE TENDER DOCUMENT FROM

12) Tenderers are required to deposit along with their tender, a bank Draft of any nationalized / Schedule Commercial bank payable at Dhanbad exclusively towards the cost of Tender Document for the amount indicated as above, in a separate envelope. Any bank Draft, prepared after the scheduled closured of sale of Tender Documents i.e. 09.03.2009 may be liable for rejection.

13) The contents of the Tender Documents available for sale in our offices, shall be deemed as authenticated and the responsibility of errors and omissions in the downloaded documents will lie with tenderer.

> M 136 -

Lodna Area

Copy to :-

All CGMs/Gms, Areas of BCCL.

2) GM (System), BCCL for logging of N.I.T. Tender Document & BOQ on Website.

3) C.V.O., BCCL.

General Manager (Constn), CED.BCCL.

5) A.F.m, Lodna Area.

TCM, AM (Plg)/SE(C), Lodna Area.

All Project Officers, Lodna Area- For display in Notice Board.

Notice Board, Lodna Area.

9) Office copy/ M./file.

PART-B PRICE BID SI.NO.2

Issued to the Tenderer		
Vide M/R No. For Rs. 250/-	Date:-	

Sign. Of Issuing authority----

BILL OF QUANTITY FOR THE WORK OF "ESTIMATE FOR RAPAIRING OF BLOCK TOP APPROACH ROAD TO CISF CAMP BHULAN BARAREE UNDER LODNA AREA.

SI No.	Particulars	Qnty	Unit	Rate	Amount
1.	Preparation of subgrade by excavating earth to an average of 22.5 cm depth, dressing to camber and consolidating with road roller including making good the undulations etc. and disposal of surplus earth lead upto 50 meters.	780.66	Sqm	21.50	16,784.19
2	Supplying and stacking of graded stone aggregate at site of size range 90 mm to 45 mm	142.73	cum	374.65	53,473.79
3	Supplying and stacking of graded stone aggregate at site of size range 63 mm to 45 mm.	142.73	cum	389.65	55,614.74
4	Supplying and stacking of moorum at site	114.00	Sqm	264.70	30,175.80
5	Laying water bound macadam with specified stone aggregate stone screening and blinding material including screening, sorting, spreading to template and consolidation with power road roller of 8 to 10 tonne capacity etc. complete (payment for stone aggregate, screening, kankar, moorum and red bajri etc. to be made separately): 17.6.1 Subbage with stone aggregate 90 mm to 45 mm including stone screening 13.2 mm size.	142.73	cum	128.90	18,397.89
6	Laying water bound macadam with specified stone aggregate stone screening and blinding material including screening, sorting, spreading to template and consolidation with power road roller of 8 to 10 tonne capacity etc. complete (payment for stone aggregate, screening, kankar, moorum and red bajri etc. to be made separately): 17.6.2 Base course with 63 mm to 45 mm size including stone screening 13.2 mm size.	142.73	Cum	122.00	17,413.06
7	Providing and laying bitumen penetration macadam with hard stone aggregate of quality, with road roller of minimum 8 to 10 tonne capability to achieve specified value of compaction and surface accuracy. For 50 mm compacted thickness using coarse aggregate of size 50-20 mm graded @ 0.60 cum per 10 sqm key aggregate of size 12.5 mm graded @ 0.15 cum per 10 sqm.	780.00	Sqm	108.45	84,591,00

780.00	Sqm	59.50	46,410.00
	780.00	780.00 Sqm	780.00 Sqm 59.50

Total Amount 3,22,860.47

Signature of contractor Seal & Date

Compared By:- I we quote the estimate rate for the	% (e above items.) on above / below basis or as per or
	Name of Contractor:-	

BHARAT COKING COAL LIMITED

(A subsidiary of Coal India Limited)
OFFICE OF THE GENERAL MANAGER
LODNA AREA

Name of work :- Estimate for repairing of Block TOP approach road to CISF Camp, Bhulan Bararee under Lodna Area.

2 Name of contractor :-

Adress :-

1. N.I.T. Reference :- BCCL/LA/Civil/NIT/08-09/2176

Dated: 20.02.2009

2. Date of receipt of tender :- UP to 3.00 P.M. on 09.03.2009

3. Date of open of Tender :- at 3.30 P.M. on 09.03.2009

4. Details of E.M.D. :- No. Dated:

5. Money Receipt No. Service N

(for issue of tender paper) :- Rs 250/=

6. Photocopy of PAN :-

7. Credential against experience:-

SIGNATURE OF ISSUING OFFICER